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Linear Equations and Graphs Review

68.
NC A

' Which graph represents the relation x —5y+10=07
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Use the following graph to answer question
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X— 5) passes through which point on the graph?
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X=5
1= o

Determine the slope of the linear relation 3x+5y+15=0.
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71. " Determine the slope-intercept equation of the line that is parallel to v = E x—73 and passes 3 % _
———— - - —
through the point (0, 5). = )<‘ ﬁ
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7 "~ Lines A and B are perpendicular and have the same x-intercept. The equation of line A

is x +2y—4 = 0. Determine the y-intercept of line B.
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The grid below may be used for rough work to answer question 73

73.  Aline has a slope of % and passes through the point (6. 0). Which of the following points must

also be on the line?

B (
C. (4.-3)
D. (9,3)
" Rewrite y =2 —6 in general form. (5 (4 ) = "5 (-& ../é,)
74. = \, 5
A 5=y=6=0 6\1 : % ’5,0

B. x+5v-6=0 /6\’ ..-5\1

D. 5x-5y-30=0 O = )Q..S\j

75.  Given the equation Ax+By+C =0, which of the following conditions must be true for the graph
of the line to have a positive slope and a positive y-intercept?

X A>0.B>0,C>0 A -0
(B) A>0.B<0.C>0 X'\'%\[ ~C

X A>0,B>0,C<0 "'AX
D. A>0, B<0,C<0
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ich of the following graphs represents a line that passes through (6, 4) and is
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to the line segment that joins A (=1, =5) and B(-3. 1).

y:—3x—9
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B. y=-3x+5
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V-3 = —3x-12
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N = 3% -9

Determine the slope-intercept form of the line that passes through the point (=4, 3) and is parallel
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‘Which of the following statements are true for 2x+3y=6"

%Y
'The y-intercept is —2. X Ol12 3\1: _.2)&.‘«6
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The line is parallel to v = 2x.

The slope-intercept form of the lineis y==x+2.
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IV. | The range is all real numbers. 3

£V only
B. landII only
C. TandIV only
D. Mland IV only

A hot-dog stand owner makes a profit of $100 when he sells 90 hot dogs a day. He has a loss

of $30 when he sells 25 hot dogs a day. Which linear relation represents his profit? b
od)
A, y=0.5x+55 (P 0%\' .(QD |l
B. y=1.08x+3.08 Y J 10 0-—[—30)
C. y=LII opé-=
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Use the following graph to answer question ~* ) Q\
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The graph above shows the relationship between the amount of gasoline remaining in a 50 L tank
and the distance driven for a certain car.

What does the x-intercept represent in this situation?

A, Tfuel capacity of the gasoline tank
B. total distance travelled during a long trip

@ total distance driven until the car is out of gas
D. number of kilometres driven per litre of gasoline



8l.  The slope of AB is —% . The slope of CD is % Given AB || CD, determine the value of w.

Answer as an integer.
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82.  Defermine the equation of a line, in slope-intercept form, that passes through the
NC  points (6, 1) and (-10, 9). q ‘
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" Which of the following lines have a negative slope?

83.

I | yv+3=0
v

J[I_ 2x+y=06 \1:: ’2}&*‘6
S| (v+2)=—4(x-5)
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